49—~/ X)UPMEY ErON”

INSERT NOZZLES ~ No.E-9991PM

K& B-1 947/ Bk
A-B-2 947 /5US416
JZL - R—JL 1 SUS303
10MPa 70°C RIAH

®10MPaDBEY A T,

B-2947F

* 972927 | PM5B-1 B-1 iR1/8:20.6: 11.
* 972928 | PM5B-2 B-2 iR1/8:20.6: 11.
* 111448 | PM8B-1 B-1 'R1/8 20.6 : 11.
* 111449 | PM8B-2 B-2 R1/8:20.6  11.
* 157115 | PM04046 B-1 iR1/8:20.6 : 11.
* 157116 | PM04048-SS | B-2 (R1/8:20.6: 11.

6.4: 23 :127:143
6.4: 23 :127:143
31.8: 23 127 143
31.8 23 127 143
0.6: 23 :1127:143
0.6: 23 :12.7:14.3

56 ¢ 30" i 15 8,550 7,700
56 30" 15 | 11,200 10,000
56 @ 26" 176 8800: 7,950
56 @ 26°  16.6| 11,500 10,300

1:56: 30 :16.2| 9,100 8,200
1:56: 30 :149|11,800 10,700

) J
;map{;ﬂ
DG A\\\H(//z a
M{ERAB TE IT w
U
o o
L p -
—> )
AIATF BIA~
Wt - gk EUIRIZE R1/16) * IBETEE
F—5'—No. No. 547 A B C D E F G W i , HE| SSO8
: : : : : : : : : -8 1~918 10M@E
% 111454 | PM13B-1 B-1 R1/16 175 95 64 23 95 11.1 1 4 34 98| 8550 7,700
% 111455 | PM13B-2 B2 R1/16 175 95 6.4 23 95 111 1 4 34° 8 [11,500 9,900
% 157111 | PM11615 B1 R1/16.175 95 0 23 95 11.1 1.6 4 40° 99| 9,250 8,350
% 157112 | PM11616-SS| B2 R1/16 175 95 . 0 23 95 111 16 4 - 40° 9 (12,000 10,900
% 111456 | PM14B-1 B-1 R1/16 175 95 64 23 95 11.1 16 4 34 96| 8550 7,700
e % 111457 | PM14B-2 B2 R1/16 175 95 64 23 95 11.1 1.6 4 34° 8 [11,500 9,900
7 % 157113 | PM11630 B1 R1/16.175 95 0 23 95 11.1 21 4 36° 98| 9250 8,350
: % 157114 | PM11632-SS| B2 R1/16 175 95 . 0 23 95 111 21 4 36 9 (12000 10,900
Wt - fliigR EUTRIE R1/8) * TR
F—5"—No. No. 547 A B C DO E F G H 1 4 =m| EROE
: : : : : : : : : : e 1~9f8 10U E
%972919 | PM1B-1 B-1 R1/8 206 111 64 23 127 143 1 56 370 15 | 8550 7,700
* 972920 | PM1B-2 B2 R1/8 206 11.1 64 23 127 143 1 56 37 15 |11,200 10,000
%972921 | PM2B-1 B-1 R1/8 206 11.1 64 23 127 143 16 56 37 15 | 8550 7,700
% 972922 | PM2B-2 B2 R1/8 206 111 6.4 23 127 143 16 56  37° 15 |11,200 10,000
% 111444 | PM6B-1 B-1 R1/8 206 11.1 318 23 127 143 16 56 26° 184| 8800 7,950
* 111445 | PM6B-2 B2 R1/8 20.6 11.1 31.8 23 127 143 1.6 56  26° 17.2| 11,500 10,300
% 972923 | PM3B-1 B-1 R1/8 206 11.1 64 23 127 143 22 56 37 15 | 8550 7,700
% 972924 | PM3B-2 B2 R1/8 206 111 64 23 127 143 22 56 370 15 |11,200 10,000
% 111446 | PM7B-1 B-1 R1/8 206 11.1 318 23 127 143 22 56 26 182| 8800 7,950
* 111447 | PM7B-2 B2 R1/8 20.6 11.1 31.8 23 127 143 22 56  26° 17 |11,500 10,300
% 972925 | PM4B-1 B-1 R1/8 206 11.1 0 23 127 143 3 56  41° 15 | 8550 7,700
% 972926 | PM4B-2 B2 R1/8 206 111 0 23 127 143 56  41° 15 11,200 9,900
1
1
1
1
1
1

SINCE 1560

928 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ (xa\ NABEYA co., L.

FriendsNo.219/2022. 1 1{EkR




Wtk - flifgR E@ERIB R1/4) * RIS
#—5"—No. No. 547 A B C D E F G W 1 = FEOE

; ; ; ; : : : : : : €& | 1~9f@ 10M@LLt
% 157117 | PM07100 B-1 R1/4:236 127 8 ' 23 143 159 1 7.9 36° : 24.5/11,200 10,100
* 157118 | PM04110-SS | B2 R1/4 :236:127: 8 : 23 143 159 1 7.9  36°  22.7/14,500 13,200
% 157119 | PM07110 B-1 R1/4 236 127 8 23 143 159 16 79 36° 24.4/11,200 10,100
* 157120 | PM04120-SS | B-2 iR1/4:236:12.7: 8 23 1143:159: 16 : 79 : 36° : 22.6|14,500: 13,200
% 111458 | PM15B-1 B-1 R1/4:238 127 318 23 143 159 16 8 @ 32° 246(10,400 9,350
% 111459 | PM15B-2 B2 R1/4 238 127 318 23 143 159 16 8 = 32° 23 [13,600 12,200
% 157121 | PM07120 B-1 R1/4 236 127 8 23 143 159 22 79 36" 24.2/11,200 10,100
* 157122 | PM04130-SS | B-2 iR1/4:236:12.7: 8 23 143:159: 22 : 79 : 36° : 22.4|14,500: 13,200
% 111460 | PM16B-1 B-1 R1/4:238 127 318 23 143 159 22 8  32° 24 (10,400 9,350
% 111461 | PM16B-2 B2 R1/4 238 127 318 23 143 159 22 8 = 32° 21 [13,600 12,200
* 157123 | PM07130 B-1 R1/4 236 127 16 23 143 159 3 = 7.9 44" 234/11,000 9,900
* 157124 | PM04138-SS | B-2 iR1/4:236:127: 16: 23 :143:159: 3 79 i 44° : 21.6(14,200: 12,900
% 157125 | PM04139 B-1 R1/4:236 127 78 23 143 159 3 = 79 36" 23.7(11,200 10,100
* 157126 | PM04140-SS | B2 ‘R1/4 236127 7.8 23 143 159: 3 : 7.9 36°  21.9(14,500 13,200
* 157127 | PM04158 B-1 R1/4 236 127 142 23 143 159 3 = 79 36° 239(10,700 9,600
* 157128 | PM04159-SS | B-2 iR1/4:23.6:12.7:142: 23 :143:159: 3 7.9 i 36° 1 22.1/13,800: 12,400
% 111462 | PM17B-1 B-1 R1/4:238 127 318 23 143:159 3 8  32°  238(10,400 9,350
% 111463 | PM17B-2 B2 R1/4 238 127 318 23 143 159 3 8  32° 22 {13,600 12,200
* 157129 | PM07140 B-1 R1/4 236 127 13 23 143 159 41 79 36" 232{11,000 9,900
* 157130 | PM04146-SS | B-2 iR1/4:236:12.7: 1.3: 23 i143:159: 41 : 79 : 36° : 21.3|14,200: 12,900
% 157131 | PM04148 B-1 R1/4:236 127 143 23 143159 41 79 32° 237(11,500 10,300
* 157132 | PM04150-SS | B2 R1/4 236 127 143: 2.3 143 159 41 79  32° | 21.8/14,900 13,400
* 157133 | PM04152 B-1 R1/4 236 127 33 = 23 143 159 41 79 32° 246/12,000 10,900
* 157134 | PM04154-SS | B-2 iR1/4:23.6:12.7: 33 23 143:159: 41 : 79 : 32° : 22.7|15,500 14,000
Witk - flifgR EIRIE R3/8) * AL
#—5"—No. No. 547 A B C D E F G W | 4 HE| FZHOE

: : : : : : : : : : - 8 | 1~9@ 10@EME
% 157135 | PM08210 B-1 R3/8 286 159 11 23 175 191 1.6 95 40  46.6|12,900: 11,600
* 157136 | PM08212-SS | B-2 ‘R3/8 286 159: 11 : 23 175 191 1.6 @ 95 : 40°  43.2(16,700 15,200
* 157137 | PM08214 B-1 iR3/8:286:159:333: 23 1175:19.1: 16 : 95 : 40° : 49.3|13,700: 12,300
* 157138 | PM08216-SS | B-2 iR3/8: 286 : 159:33.3: 23 {175:19.1: 1.6 : 9.5 : 40° : 459(17,800: 16,100
* 157139 | PM08220 B-1 R3/8 286 159 11 23 175 191 21 95 40"  46.4|12,900 11,600
* 157140 | PM08222-SS | B-2 ‘R3/8 286 159: 11 : 23 175 191 2.1 : 95 : 40°  42.9(16,700 15,200
* 157141 | PM08224 B-1 iR3/8:286:159:333: 23 1175:19.1: 22 : 95 ! 40° : 48.7|13,700: 12,300
* 157142 | PM08226-SS | B-2 iR3/8: 286 : 159:33.3: 23 {175:19.1: 2.2 : 95 : 40° : 45.3(17,800: 16,100
* 157143 | PM08230 B-1 R3/8 286 159 142 23 175 191 3 = 95 40" 46.1|13,200 11,900
* 157144 | PM08232-SS | B-2 ‘R3/8 286 159: 142 23 175 191 3 : 95 : 40°  42.7(17,200 15,500
* 157145 | PM08234 B-1 {R3/8:286:159:333: 23 :175:19.1: 3 9.5 : 40° 1 47.7(13,700: 12,300
* 157146 | PM08236-SS | B-2 {R3/8:28.6: 159:33.3: 23 :175:19.1: 3 9.5 : 40° | 44.3|17,800: 16,100
* 157147 | PM08238 B-1 R3/8 286 159 17 23 175 191 41 95 40" 44.4|12,600 11,400
* 157148 | PM08239-SS | B2 ‘R3/8 286 159 1.7 23 175 191 41 @ 95 : 40° 41 (16,400 14,900
* 157149 | PM08240 B-1 iR3/8:286:159:14.2: 23 :175:19.1: 4.1 : 95 : 40° : 45 |13,200: 11,900
* 157150 | PM08242-SS | B-2 iR3/8:28.6: 159: 14.2: 23 1175:19.1: 4.1 : 95 : 40° : 41.6(17,200: 16,100
% 157151 | PM08244 B-1 R3/8 286 159 332 23 175 191 41 95 40° 457|13,700 12,300
* 157152 | PM08246-SS | B-2 'R3/8 286  159:332: 23 175 19.1 41 : 95 : 40°  42.3(17,800 16,100
* 157153 | PM08258 B-1 {R3/8:286:159:13.8: 23 :175:19.1: 5 9.5 : 34° 1 45.2(13,200 11,900
* 157154 | PM08260-SS | B-2 iR3/8:28.6: 159: 13.8: 23 :175:19.1: 5 9.5 : 34° 1 41.7(17,200: 16,100
* 157155 | PM08248 B-1 R3/8 286 159 13 23 175 1971 56 95 34 436|12,600 11,400
* 157156 | PM08249-SS | B2 'R3/8 286 159 1.3 23 175 191 56 @ 95 : 34"  40.1(16,400 14,900
* 111464 | PM18B-1 B-1 'R3/8 286 16 12723 :175:191 56 @ 9.6 @ 34° 42.4|11,500 10,300
* 111465 | PM18B-2 B-2 iR3/8: 286 : 16 12723 i175:19.1: 56 : 9.6 | 34° : 39.4|15,000: 13,500
* 111466 | PM19B-1 B-1 'R3/8:286:16 :31.8: 23 1175:19.1: 56 : 9.6 : 34° 1 40.6/11,900: 10,800
* 111467 | PM19B-2 B-2 :R3/8:286:16 318! 23 :175:19.1: 56 | 9.6 : 34° : 37.6|15,700: 14,000

SINCE 1560

NABEYA co., L.

FriendsNo.219/2022. 1 13{ER

CADF—95'9y0—K - EERAE Web Y1 bT! [ 7RV

BOEE MM

929



BUSE A

930

49—~/ X)UPMEY

INSERT NOZZLES

No.E-9991PM

WitER - flifgR  E@ERIE M6x1)

ERON)’

* (R

#—5'—No. No. 54 A 8 ¢ D E F G W 1 4 uE w08

: : : : : : : P : 8 | 1~9@ 10@uLt
* 111450 |PM 9B-2 A iMEX1:17.1:95 64 23 95 11.1: 1 2.8 1 34" 7.6 |11,100: 9,900
* 157157 |[PM22016-SS | A iM6X1:16.8: 9.3 0 23 95 11.1: 16 29 ¢ 40° : 7.2 {12,000:10,900
% 111451 | PM10B-2 A M6x1 17.1 95 64 23 95 111 16 28 34" 76 11,100 9,900
* 157158 |PM22032-5S | A MéX1 168 93 O 23 95 111 21 29 36" 7.1 (12,000 10,900
Wit - iR EUIRIE M8x1.25) * LTS
#—5'—No. No. s A 8 Cc D E F G W 1 4 HE| SSE6

: e T - ey IR T PN
* 157159 | PM22112-SS| A M8X1.25:175: 93 158 : 23 {95 :11.1: 1 4 34°: 8 112,300:11,200
* 157160 | PM22116-SS| A M8X1.25 175 93 0 23 95 11.1 16 41 40° 7.8 (12,000 10,900
% 157161 | PM22122-55| A M8X1.25 175 93 58 23 95 11.1 16 41 34" 79 (12300 11,200
* 157162 | PM22132-SS| A iM8X1.25:175: 93 : O 23 95 111021 0 41 :36° ¢ 7.7 [{12,000: 10,900
Wit - figR EERIE M10x1.5) * [EEIEER
#—5"—No. No. 547 A B C D E F G A | 4 Hm| SmOE

: R T I PwT R T u
* 111452 | PM11B-2 A M10x1.5:186: 95 64 23 95 :11.1: 1 4 34°: 8.8[11,100: 9,900
* 157163 | PM22316-SS| A :M10X15:183:93: 0 23 :95 i11.1: 1.6: 4.1:40° :10 [12,000: 10,900
% 111453 | PM12B-2 A MI0X15 186 95 64 23 95 11.1 16 4 34" 88/11,100 9,900
* 157164 | PM22332-SS| A M10X1.5:183: 93 : 0 23 :95 i{11.1: 2.1: 4.1 :36°: 9.9(12,300: 11,200
Witx - i8R EUIRIEB  5/16-24UNF) * TR
#—5"—No. No. 9147 A B C D FiG wog g EE| BEEE

: : : : : : : : : : - 8 | 1~9f 10@MEL
% 157173 | PM07310 | B-1 5/16-24UNF 175 95 58 23 95 11.1 1 4 34" 102| 9,400 8,550
* 157174 | PM07312-5S | B-2 5/16-24UNF 175 95 58 23 95 11.1 1 4 34" 94[12,300 11,200
*157175| PM07315 | B-1 5/16-24UNF 175 95 0 23 95 11.1 16 4 40" 10 | 9,250 8,350
* 157176 | PM07316-SS | B-2 : 5/16-24UNF :175:95: 0 {23 :95:11.1: 1.6: 4 40° ¢ 9.2/12,000 : 10,900
% 157177 || PM07320 | B-1 5/16-24UNF 175 95 58 23 95 11.1 16 16 34" 10.1| 9,400 8,550
* 157178 | PM07322-5S | B-2 5/16-24UNF 175 95 58 23 95 11.1 16 4 34" 93[12300 11,200
* 157179 | PM07330 | B-1 5/16-24UNF 175 95 0 23 95 11.1 21 4 36" 10 | 9,250 8,350
* 157180 | PM07332-SS | B-2 : 5/16-24UNF :175:95: 0 (23 :95:11.1: 2.1: 4 36° ¢ 9.1/12,000 10,900

CADF—959y0—K - EERAE Web ¥ bT! [ 7~V

SINCE 1560

NABEYA co., L.

FriendsNo.219/2022. 1 1{EkR





